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Paper : MINECO2
( Elementary Macroeconomics )

Full Marks : 80
Pass Narks : 24

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. oo WaIERe wa e i Sfrear / bes frmn -

1x8=8
Choose the correct answer / Answer the
following :

(@) ___ < Sigfs SHRe SRy wwe g &
T |

is known and regarded as the father
of modern macroeconomics.

(i) s Fag
Adam Smith
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(2)

i) & R &
J. B. Say
(iti) (8. 99. Y,
J. M. Keynes
(iv) SR A& 4=

None of them

(b) T8 T4 Tocer® o IR

The consumption of fixed capital is
known as

(i) ey e
depreciation

({) TR 7 Zoi
capital formation

(iij) Rfvcns o
investment |

(iv) S°RI FICAIE]
All of the above

(c) =B =@ e
National income is
(i) TAm IFS NNP
NNP at factor cost
(ii) T WS NDP
NDP at factor cost
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(3)

(ifi) I&< ¥ NNP

NNP at market price
(iv) TAM WS GNP

GNP at factor cost

(d) 5Te T gl (APC) =
Average propensity to consume (APC) =
(i AC/AY
(i) C/Y
(i) Y/C
(iv) AS/AY

(e) TIPS w52

What is fiat money?

() O TAmER e[S (@31 s ©g gy
FE?

On which factor Keynesian theory of
employment depends?

(i) tew vz
Effective demand
(i) Q=
Supply
(iti) e Tl
Production efficiency
(iv) €[ 9bre 7=y
None of the above _
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(4)

(@) T@reIes 91 Top ey 90

Mention one benefit of inflation.

(h) IM MPC = 0-80 =¥, oz Rfawws @933 I+
ES
If MPC =080, then the value of
investment multiplier is

M 4
(i) 8
(i) 5
(iv) S°R{ GBI =

None of the above

2. ooq R e sROR eqe oY (G forn (aifecer
sao 3 fowe) - \ 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(a) SRS SAAST =1

Objectives of macroeconomics

(b) «NAG JF qFS GDP
Nominal and real GDP

(c) SRS viftvR RS

Determinants of aggregate demand
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(S)

(d) &3 I&9 [
Say’s law of market
(e) @R FEEEN

Functions of money

e 2pPTRd Tes fia (ARSCH oo *13 fovTo) :

Answer the following questions (within 500 words
each) :

3. () IBre IF TS NAANST N [y 391
RS YAy opfe WIF AR e
90 5+7=12

Distinguish between micro- and macro-
economics. Discuss the nature and
scope of macroeconomics.

{1/ Or
(b) TFR LRPTR [P I 6+6=12
Explain the following concepts :
() A T W Rl
Economic growth vs. Stabilization

(i) FS WF @20on SWEIM Hqeafes
fomran
Classical and Keynesian macro-

economic thoughts
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(6)

4. (@) P TG TSAMA AW FE T ORAINTS
*&SCO] AT 91| GDP SF TN W&
o F1 9 7+4=11
Explain the value-added method of

computing GDP. What is the relationship
between GDP and welfare?

¥/ Or

(b) faxfes SLNIfcs wolw SET Serde 2112 W
391 | GDP 9% GNP ¥ M1&9 #1955 ey <41 |
6+5=11
Explain the circular flow of national

income in a two-sector economy.
Distinguish between GDP and GNP.

5. (o) Ram {FErm & w2 Rfvaes (RRds ‘

SRR e {1 Rfvanse g1 ez
I 90 1+3+7=11

What do you mean by investment?
Define different types of investment.
Explain the determinants of the level of

investment.
241/ Or
(b) TorcE T 9 Teeerel Few AREPER R
&9 MPC 3 @5 17 941 | 2+4+5=11

What is consumption function? What are
the properties of consumption function?
Explain the significance of MPC.
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(7

6. (a) T wF e
FICAGAPIR AL 1

)

Rfrm e g
| 11

Explain critically the classical theory of
determination of output and

employment.

%41/ Or
(b) (O INES SN TER B (FCALS (AR

I J? IR TN

How is equilibrium level of income
determined under the Keynesian

system? Explain.

7. (a) @R Y= e & @i FoRs @R oA
SGCO! FCATGAPIR, A 47 3+8=11
What do you mean by the value of

money? Critically

examine Fisher’s

quantity theory of money.
]I/ Or

(b) oFO MACIRI I 0 ¢ 4+4+3=11
Explain the following :

() JE@E TR

Types of money

(i) TS

Inflation

(i) AR Y

Measures of money
%* % K
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